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Question Number : 1 Question Id : 5244765001 Display Question Number : Yes Is Question Mandatory : No Calculator

Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s sample and hold function?

Q07w $HBAN D HoES ®OT DEI?

Options :

1. Digital to analog conversion

G230 Dod @derh S8

: None Response



2. Analog to digital conversion

) @derh Hod &22ed Hr8 )&
2. ¢
3. Continuous signals
. NBodS SosTren
4. Timing circuits
FAT VOISV DR IAY
4, %

Question Number : 2 Question Id : 5244765002 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which diode 1s used as a temperature variant sensor?

&L SE0H0E VT YBM o BBrE SOIBrAOIES0E?

Options :

1. Thermocouple

B IEHSE

1. %
2. Transistors
R
. R
3. Thermometer
. BT
3.
4. Silicon
A0S
4

Question Number : 3 Question Id : 5244765003 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

When the Hall voltage 1s generated?
TS ST DN e el @0:9e0E?

Options :

1. Direction perpendicular to both current and magnetic field

EB0E] BTN AR 06 T (T8 02001 &OF

2. Direction parallel to both current and magnetic field

EBOE] DA AR 0c T ($0 BoB0E3E HdroedS &F

2. %



3. Direction perpendicular to magnetic field

e 90D 0 E (@8 @020 &F
4. Direction perpendicular to current
. %808 ©020m &GoT &F

Question Number : 4 Question Id : 5244765004 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What are typical LED materials?
39 LED DT o))?

Options :

1. Indium Selemide

QORON ?0@@5
1. %
2. Gallium telluride
OO BoensB&H
2. %
3. Gallium Arsenide
L mOaHo eB)S&
R
4. Indium Arsenide
QOGO 8BS
4, %

Question Number : 5 Question Id : 5244765005 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A phototransistor, a light sensitive transistor:

YN0 9TA BE YIS 8N, D

Options :

1. has normal base, collector, emitter connections.

P56 B, §BE8, GT°8e3 ETE.AD ¥R &oenod.

2. has the base and collector connected together.

B0 BA8N EBE6 DR ETT TG GotNoA.

3. has no base connection.

B ETES $D8 &0k,

3.



4. has the base and emitter connected together.

230 B8 AN GTE3 DD ETT TAHhaaB GoLnod.

4. %

Question Number : 6 Question Id : 5244765006 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The common emitter between the base and collector 1s known as.

TR DB EBEE Qs e &8sl O GoB OEFE D
@0EF,

Options :

1. Amplifier voltage circuit

AFoNDANE STSeT DS 58

1. ®

2. Common current circuit
_ orde EB0E D&Y

2.
3. Emitter amplifier circuit

. GO SO ONE D&, 5
4. Comumon emitter circuit

L, e &roed HETy 5

Question Number : 7 Question Id : 5244765007 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the mid-band frequency value for amplifiers?

ASTOTRONB® ¢35-2750& (DBSDY Dexndd

Options :
1. 1dB
1. %
.2 4dB
.3 2dB
4. 3dB

Question Number : 8 Question Id : 5244765008 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following is a pinch-off mode?

208 363 H05-8D s E?

Options :

1. Gate to source ‘,oltaoe

ReS oD 8 STe388

1. ®

2. Drain to source voltage

. BS 0D &8 STSe88
3. (Gate to source current

. 718 oD FE) §3oed8
4. Drain to source current

L, BS 00D &8 8038

Question Number : 9 Question Id : 5244765009 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the formula for Band pass filter?

2508 PR DD O(H0 DEI?

Options :

=f./ 7
o, 1 Q=t/BW
i Q=£/BW
L. 3 Q=fyBW
.« 4 Qf/BW

Question Number : 10 Question Id : 5244765010 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The equivalent resistance between VREF and ground of the R/2R ladder DAC 1s:
R/2R ladder DAC 3308) VREF «08A50 TP0& o055 QedraIZ0 (e3a0erdd

Options :



Question Number : 11 Question Id : 5244765011 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The voltage mcrements from a 10-bit resistor-string DAC with 10V applied 1s:

10V S80HBcHES 10-D¢ BRNE-(V0OR DAC 0 S8 2080w

Options :
1. about 10 volts
0XED 10 S

1. o
2. about one volt
DXSFE) 2.8 SO
2. ®
3. about 10 mullivolts
0875 10 O
R4
4. about 100 millivolts
L RSd 100 uOS

Question Number : 12 Question Id : 5244765012 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The efficiency of linear series voltage regulators 1s:

DJHE R TS BsS e eBs50

Options :

1. less than 50%

o, 50% 30 S80S
2. less than 75%
e 75% 50T 505

3. less than 35%

35% S0T 580359



4. less than 10%

10% 0T 5805

4, ®

Question Number : 13 Question Id : 5244765013 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The devices that have contributed most to low power dissipation 1n digital processors
are:
&S TN $505S 38 IO=O@NE b0 STrBIAS
L88oren:
Options :

1. power transistors

DB €7 YR
1. %

2. bipolar logic transistors

BFerd 38 )R
2.

3. CMOS—complementary-metal-oxide-semiconductor—integrated circuits
CMOS-5°000088- e S-e&3 ) B-Rab B0 E6-2083 sk
&) 5 en

3.¢

4. a mix of bipolar and MOS devices

23D B8 MOS HEETE B0
4. %

Question Number : 14 Question Id : 5244765014 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

An mverting switching voltage regulator:

235808 DN ST BrsSers

Options :

1. uses mverting logic circuits for its control

R JoH0(569 500 BB 580 37288 HET) 5 GHTIFRNOE

1. ®

2.

2. produces an output voltage that 1s inverted in polarity to that of the input voltage

ASHE STBEEL (L0395 DS 00 TAHDAS @0HEHE ST
& 5518 IO



3. uses a bridge rectifier in its control circuit

R QOHO5 DET) 55 0B BEDOHELH GHTrANOE

308

4. operates at 10 Hz
10 Hz 3 DATROE

Question Number : 15 Question Id : 5244765015 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following theorem can be applied for dc to ac voltage source
conversion?

de 0G ac S5 FE) 378315 850 808 ¢3S ) DT oY

€9 §0009TN)?

Options :

1. Thevenin’s theorem

BIVQ V05O

1.

2. Norton’s theorem
O V050

2. ®
3. Norton’s equivalent circuit
RS T30EY NITI DB 5
3.8
4. Superposition principle
- Q00 P20 | do

Question Number : 16 Question Id : 5244765016 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The essential component of a toaster 1s an electrical element (a resistor) that converts

electrical energy to heat energy. How much current 1s drawn by a toaster with
resistance 12 Q at 110V?

SR8 T0E) WIS 2750 5S Surexdo (BAND), 3B VXS 35
DA 38 ArBHNoB. 110V I 12 0 BIVS) &) &V6 o0 doeh

308 (& ©@H)eod?
Options :
1. 8.671A

1. %



2. 9.167 A

2.9

3. 9210A
3.8

4 8976 A
4, %

Question Number : 17 Question Id : 5244765017 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following 1s necessary for half wave rectifier?
57D RS BEDOHE 550 808 7¢35” DB ©95580?
Options :

1. Two diodes

B BT

1. ®

2. Four resistors

o, ol B
3. One diode

PR ¥ JaTelvye
4. 2 rectifiers

L 2 BEOHD

Question Number : 18 Question Id : 5244765018 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statement 1s true for n-type Si material?
n-5%0 Si De3BHSH 808 VEoE S A HBIE?
Options :

1. Electrons are majority carriers and trivalent atoms are the dopants

DO T e8¢ 558aHE BN (3T B0ES ey en oty

2. Electrons are minority carriers and pentavalent atoms are the dopants
QO DrrBe3 5258AHD HBAM WVOLFFBOE DBSTEDHeN
S0t

2. %



3. Holes are majority carriers and trivalent atoms are the dopants

B0(G7e0 Der8ed TTseen HOAW (3B e B0t

3. W

4. Holes are minority carriers and pentavalent atoms are the dopants

Solcren Dbl 523800 HBAN DOEFT T eeHen
SrolY

4, ®

Question Number : 19 Question Id : 5244765019 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

How many mputs and outputs does a full-adder have?
JPO-A5 550 A) BI)EI N SHEAZN @H)EHE e SoETaN?
Options :

1. 2 mputs, 2 outputs

2 AR EN, 2 @HEHEen

1. ®
2. 2 puts, 1 output
. 2 3RNE e, 1 @JHEHE
3. 3 mputs, 2 outputs
. 3 BN E e, 2 @HEHEen

4. 2 nputs, 3 outputs

2 3RNE W, 3 @HEAHE e

Question Number : 20 Question Id : 5244765020 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following devices selects one of several inputs and transmits to a
simgle output?

808 HBETS” DA ©TE ASHE O 2,47 JOHEOENOE
DBA8N 2.8 @YENE L DT E0 TWOH?

1. Decoder
. GFab

I~J

Multiplexer
2005

2.



3. Demultiplexer

SO ENE

4. Counter

Foe)d

Question Number : 21 Question Id : 5244765021 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following statement 1s correct for an operational amplifier?

SIBASS ASrouRHE 500 808 VE 0SS’ A HBSE?

Options :
1.  has low voltage gain
- $%0)5 S35 er250 S0
2. directly coupled to current rectifier
§B0E BEDOHEE T 23S$TAH S0
2. %

3.  Amplifying both DC and AC signals
DC S8A%0 AC DK S ) BoR0E3R IL8N0H

3. W

4. Designed to perform signals

M) D) AB aroNETR8 BrSPoO0DDR0A

4, %

Question Number : 22 Question Id : 5244765022 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following 1s the application of class D amplifier?

808 ¢35 TR D O30 AHE TE), TAS OE?

Options :
1. Pulse generator

- DSy 23305
2. DBattey

. sl

3. Switch
DD



4. LCDs
* LCDe»

4.

Question Number : 23 Question Id : 5244765023 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the output voltage of a ladder-network conversion?

Ladder-JE3 58, 53815 T30E) €958 S35 00T de3?

Options :

1. The digital output voltage proportional to the linear input voltage

32206 9HEHE B OIAHE ASHE SFSeE &
e DS IrOFS0S Gotnod

2. A fixed digital value Vit

?G\J)d &23&)6 3@0:5 Vief

3. The analog output voltage proportional to the digital input voltage

©3erh ©98HE BT d8erS aSHS TSI
DS 3P0 S0EN0D

3. ¢

4. A fixed analog value Vet

-‘%)é @é@ﬁ ;D@_mc;s Vet

Question Number : 24 Question Id : 5244765024 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

At which slope mterval does the analog-to-digital converter (ADC) operates?
295e7R-0-3280S EQ588 (ADC) & 50 DTN0S” DTN OE?
Options :

1. Positive

r23e3

2. Negative

(De3dred

3. Neither positive nor negative

T23¢3x DB SN 5°¢0



4. Both positive and negative

D ETE DA (DedETre BO®

4.9

Question Number : 25 Question Id : 5244765025 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The storage element in the static RAM is,

Te3§ RAMSS' Qo ¢ Sarerdo

Options :
1. Resistor
o v
L Bowd
2. Diode
, s O3r&

3. Flip-flop
PD-TD
3. S

4. Capacitor

Baratd

4. %

Question Number : 26 Question Id : 5244765026 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The periodic recharging DRAM memory cells are known as,

€358 857800 DRAM 008 1S e90E.

Options :

1. Multiplexing
O D.OR

1. ®
2. Refreshing
=1 =%
Lo Sl
3. Flashing
. raoh

4. Bootstrapping
20T(E5°),,2000

4, ®



Question Number : 27 Question Id : 5244765027 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

How will the dynamic memory cells store the data bit?

BIWE D008 Eezren, Ber DED Der ded § D 00?

Options :

1. Capacitor

L ERE
2. Flip-flop

. EBsa
3. Resistor

. T8
4. Diode

4% S35

Question Number : 28 Question Id : 5244765028 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In what way the shift registers will be arranged in the system?

%@536531% 82205 &) 0T @S Yarcberan?

Options :

1. FCFO
1. %

2. FIFO
2. ¢
.« 3. LIFO
. 4 FILO

Question Number : 29 Question Id : 5244765029 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

From the list below which parameter used to as hard disk performance:

E5S 22D e HOS S8 &) DIBHT &IHTIFAOT Ho°ed

Options :



1. Break time

. DTN N0
2. Waiting time
e Qb8E e ddvaho
3. Feedback time
e @DREAD QA0
4. Seek time
Lo DSEEE ST DA

Question Number : 30 Question Id : 5244765030 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which control 1s used for Address decoding for dynamic memory chip?
BIWE R0s08 DD 800 GEBOR DBHTSETEL & ACHO(ehed
E50003rR0T20C80e0E?

Options :

1. chip selection and address location

DD D0NE B3N VBT "0

1. ¥
2. controlling refresh circuits

. BRI 08T) s80 dodbo@odso
3. memory mapping

. 8 Srsdoh
4. read and write control

Le D0 B0 (TPAiE0 AANO(SED

Question Number : 31 Question Id : 5244765031 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which type of gates are used for halt adder tormation?
T A8 08 )C8ET8 & BERN T GOTTATED?
Options :

1. AND

1. %



2. EX-OR
2.%
. 3. NOR
4. NAND
4, ®

Question Number : 32 Question Id : 5244765032 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The one’s compliment of 10111010 1s

0111010 O3N0E) oS80
Options :
., 1. 01000101

2. 11110101
W

3. 00110000

3. %

. 4. 00110100
4,

Question Number : 33 Question Id : 5244765033 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

On which basis the OR operation is conducted in the Boolean algebra;

27O0HS D231563506S° OR SIBAS & |PBDEES
500200

Options :

1. Associative

OFLE3S

1. %

2. Discrete

DDE

3. Sequential

AT AoHS

4. Homogenous

H2e305



Question Number : 34 Question Id : 5244765034 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Number of variables in K-map:

K-35 38059208 ) dows

Options :

1. 6
1.

2. 16
2.

3 I3
3. %

4. 8
4, %

Question Number : 35 Question Id : 5244765035 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which type of transistor, the 100MKz speed will be performed:
& BERS (€7 INEES’, 100MKz SK0 199858 30522880508
Options :

1. S-TTL (transistor-transistor logic)

S-TTL (S-[¢7Q )67 )05 er228)

1L
2. TTL (Transistor-Transistor Logic)

Lo TTL (EQ)R6-(€7R)QE ee8f)
3. ECL (Enutter-coupled logic)

. ECL(&5°863-8)9 e»a§)
4. CML (Current-mode logic)

L. OML (DN S-JIr& e7238)

Question Number : 36 Question Id : 5244765036 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following 1s the type of saturated logic family?
808 ¢365" DA DoY) 350 Botn00 TE), SE0?

Options :



1. Emutter — coupled Logic

&8 - 85O ere8§

2. Schottky TTL
x¢3) TTL

3. Resistro Transistor Logic (DTL)
B SF €000 €238 (DTL)

4. CMOS

4, %

Question Number : 37 Question Id : 5244765037 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The check-sum method 1s used for.......

D5-0a0 DQe3 £ B OBrA0D200e008.

Options :

1. Double errors

L %S Saren

1.

2. Single error
L. 2880
3. Logical error
,
. TOES Do
4. Double codes
L 8206 §Gew

Question Number : 38 Question Id : 5244765038 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The compression process from larger to smaller memory size i1s known as..

20 20 DY) 008 D8R0 3351 L&Y (DEAH
@0er.

Options :

1. BIT

1. ®

2. MOSFET

2.



3. COR

3. %

4. VLSI
&

4.

Question Number : 39 Question Id : 5244765039 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the term used for fetching data from the storage devices?

Qe § DBET*® OB Terdd 03¢0 500 GITBrA0T HESo
Da¢3?
Options :

1. Data hold time

Ber 20O Do

2. Read cycle tune

B0 BAS SHoho

2. o
3. Access time
) OB IR QoA
3.
4. Write enable time
Le TOHERE A0S HSHAho

Question Number : 40 Question Id : 5244765040 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What type of bus 1s used for microprocessor operation?

DIE 06 SIHBAS 800 o) BER 2080)

GOA3rA0020CR0E?
Options :
1. Address bus
L QDOTT )
2. Data bus
L. B 2ad0)

3. Control bus
LoETS 20

3. ¢



4. Signal bus
RSO 2D

Question Number : 41 Question Id : 5244765041 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The addresses which will accesses m a specific order 1s known as ...

QO 500 AIFEIR T DATHATOD 0ETX.

Options :

1. Random access

£
- WA RTARI OV ISR
2. Specific access
L BHAFEID
3. Systematic access
P VAR VN TV RS
4. Formal access
©HZEE AFrB YR
4, ®

Question Number : 42 Question Id : 5244765042 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The DMA transfers are performed by a control circuit called as

DMA 288e» @A DeNSDT AAHO(Ehed DET) 3¢ 5O
Q& L0 E8TPOW.

Options :

1. Device mterface

DHBEE Q0THR

2. Overlooker
2.008e86

3. Data controller

Zer $o(&5eb



4. DMA controller
DMA Z0|¢56

Question Number : 43 Question Id : 5244765043 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

For faster data transfer the controller will be connected to....... bus.

SK505 DS Ber 20O §%0 S0 SEGH
SOHVBE0A.

Options :

1. System bus
RS 22,

1.
2. Controller bus
. So &b adn)
3. Processor bus
(P00 20A0)
3. w
4. External bus
23°aT°5 22e0)
4, %

Question Number : 44 Question Id : 5244765044 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The registers of the controller will be.... Bits

o8 T3E) 8BHD D) O eotrom.

Options :

1. 24
1. ®
. 2 64
v 3 3
L% 4. 12

Question Number : 45 Question Id : 5244765045 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which type of converter is used to compare analog input voltage with each node
voltage?

DB & STE S @5erh SHE STBE e I8 & SES
E5588 & 0TBrRo0d2050H?

Options :

1. Parallel comparator A/D converter

QA0S 00,8826 A/D 85505

1.¢
2. Parallel inverting A/D converter
D705 B Q0N A/D §55838
2. %
3. Parallel counter A/D converter
. QAT0e5S 08 A/D 5595

4. Parallel non-mverting A/D converter

QAT T°R-2 5800 A/D 5506

4, ®

Question Number : 46 Question Id : 5244765046 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the conversion time of a 12-bit counter ADC with IMHz clock frequent
to change nto a full-scale mput?

578 PN VEDE™ S8 )R8 S0 IMHz $AASTFS0 12-0E
8208 ADC TBNE) S78)E DDA D0eh?

Options :

1. 4.095 us
1. ®

2. 4095%
2. %

3. 4.095ns
3.8

4. 4.095 ms
4.9

Question Number : 47 Question Id : 5244765047 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In which mode the inverted R-2R ladder will be operated.

DS R-2R ladder & &S’ NS §ar0I220MN0A.



Options :

1. Inverted mode

DNSD b

]

Voltage mode

L OGS b

3. Current mode

(A0S Jr&
3.
4. Non mverted mode
TR AN D& &
4. %

Question Number : 48 Question Id : 5244765048 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The ripple counter is also known as,
oo Fotd) @ S ©0Erd
Options :

1. sequential counter

e 35000 S Eoerd

2. asynchronous counter

L ONTOE Totrd
3. synchronous counter

e QOIENR Totod
4. up-down counter

L OD-T'N §od

Question Number : 49 Question Id : 5244765049 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Among the below list which one 1s capable for operating at higher temperatures.
&S DTS &) T3S @AE BFHBO SO DATAHH
0PSO 50 GO&.

Options :

1. JK-FF




2. Asynchronous counter

005OE Toed

3. Synchronous counter

. Dol Fowb
4. Register
P ot 1N

Question Number : 50 Question Id : 5244765050 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The counter which 1s capable for counting either way 1s known as:

D Ddorrsa S8).054581 FPoerb& 0T

Options :

1. Synchronous counter

OEND Foerd

1. %

2. Bidirectional counter

& 5OT$ 8 Toerd

2.

3. Up counter

@ Toed

3 8

4. Down counter

TS Toed

Question Number : 51 Question Id : 5244765051 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

From the following which type of shift register is used in 8085 microprocessors:
808 5°¢3 o0& 8085 DETIES’ & BERS AP 828R
G OrA0NDE0E;

Options :
1. Sernal In

. BHS s
2. Senal Out

DBHS ©59E

2. %



3. Parallel In Serial Out
. Foodas DBAHS ©HE
4. Semnal In Parallel Out
DBAHS B8 FSS ©9HE

4.

Question Number : 52 Question Id : 5244765052 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

When an mput of 1111 1s set in a 4-bit serial in parallel out shift register with the
applied data of 1010. What 1s the output after three cycles?

1111 330E) BISHE 4-DE DBHSES 1010 903585 TBers
DIr0SEOTT AP 826 €S TOH2AXDD) Y. Sarchd D8S )

50" 55 ©9YE)E] DOEH?
Options :
- 1. 0101
2. 0011
2. %
e 31100
L. 4 1010

Question Number : 53 Question Id : 5244765053 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which type of microcontroller supports USART commuication proptocals?

& BERS D|EE0E5e>8 USART s QBAS (EPFES 80 S0dehd

QWOE?
Options :
1. ATS088
1. %
2. ATE051
2. %
v 3. AT89C351
4. AT89DS51



Question Number : 54 Question Id : 5244765054 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What are anti-aliasing filters?
05r0e3-0asr0h D6 ©oT DE3?
Options :

1. Low pass

v S50

2. High pass

. T
3. Passive low pass
. QN0 Y

4. Band pass
2rs08H I

Question Number : 55 Question Id : 5244765055 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s one-pole filter?
SR-FS DB 0TI DNE3?

Options :

1. Both resistor and capacitor are together

BORE HBAW BIr0ED Bockr EO Soeron

2. Senal resistor and parallel capacitor

DBCHS BRIV DB D80S Bred

3. Parallel resistor and serial capacitor

D305 AE L0 LHBAN DBHS BI1eXE

4. Only one resistor

2.8 BRANE S

Question Number : 56 Question Id : 5244765056 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following 1s known as ripple counter?

208 363 BR) 8HS Tor8 e Denardy?



Options :

1. Mod-16
1. %
, » 2- 74LS93

3. 2RDAC
3. %

4. CLKs
4, ®

Question Number : 57 Question Id : 5244765057 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

11010 digital input was given to 5-bit ladder with 0 as 0 V and 1 as 10 V, then
what will be the output?

11010 32360 RRYE 5-0¢J ladder 0 0 0 VT 08A%® 1 10 Vi
2D S2DR0E, €95 )E 29IEYE e BOLNOS?

Options :
 x k= - 8125V
2. —=8.8W
2. %
3 F6.5V
3. %
4. —8.125V
4.

Question Number : 58 Question Id : 5244765058 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The priority given for highest mputs coders 1s known as,
©5OE IO BB BRI DA (55D
@0er.

Options :

1. Priority multiplexer

IS5 EORS O NEE

2. Prionty Encoder

rerdse D86

2.



3. Adder
a3esd

4. Comparator

Eoar8ed

Question Number : 59 Question Id : 5244765059 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s binary value of BCD number: 0001 0001 1000 (118)?
BCD 02§ 0001 0001 1000 (118) 330, 38 Dexndd de3?

Options :

1. 01110110

1.+

2. 0I11 1000

2.

3. 0001 11110110
3.8

. 4 110000100011

Question Number : 60 Question Id : 5244765060 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

How many possible combinations can a 5-bit Gray Code have?

5-8¢ |1 &S’ Q) 750 Sromden B5ocsdd)?

Options :
L. 18
1. ®
L w2 2
e 316
4. 32
4.

Question Number : 61 Question Id : 5244765061 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following factor 1s used imn BCD to binary conversion?
BCDSS' B8 578138 808 ¢3S 08 5 dT3rAodardtoehnod?

Options :



1. Ripple factor
@0 2850

2. Time factor

QoA 52880

3. Weighting factor

Sone3soh 585

4. Bit factor

DE 580

Question Number : 62 Question Id : 5244765062 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

From the following which one 1s used for sum-of-products logic;

DOD-8D-( PS8 728§ 8700 GOBPAD ) K.

Options :

1. Multiplexer
O DENE

2. Demultiplexer

5500 EE

3. Counter

Poed

4. Comparator

Eoar8e5

Question Number : 63 Question Id : 5244765063 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the principle behind the grey code for controlling the rotating
machinery?

S87 AHOEP D AAHOBONETRE 11T 56 I &) reho
D32

Options :



1. each bit changes on every step of its count sequence

198 DE Q) K (E00 TE), (D BHS Srdehod

1. ®
2. four bits changes to count sequence
B3R B8),059@8 Trenthy DE ) Srddyen 238kEson
2. %
3. four-bit changes to analog code
. oderf §°G8 TeenX-DE S e BBBIEEan

4. only one-bit changes on each step of its count sequence
Fol JFUSITD (DB DS 2.8DE IFS$D  Srdd)
Lo B8%eod

Question Number : 64 Question Id : 5244765064 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following features is correct for mstrumentation amplifier?
QS WOTAS ASron0H550 808 ©F t7ereS’ A JBIE?
Options :
1. Low AC offset
55023 AC &SI

2. Low output impedance

) 580705 @HEHE ROVBI)
2.
3. High stability with high temperature co-efficient
&S &P fies K50 B VB 0o
3. %
4. Low CMRR
Lx 980 CMRR

Question Number : 65 Question Id : 5244765065 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which type of circuit 1s used for convert sine wave to square wave?

R J3D R 58 VI 5508 )38 o) BES DBy, €3
€503 A0520¢0 50 E?

Options :



1. Schmuitt trigger

o e (806
2. Baistable multivibrator
DS HOI B
2. ®

3. Astable multivibrator

RS HOJ B

3 %

4. Monostable multivibrator

rSHenS LHOR B

Question Number : 66 Question Id : 5244765066 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following 1s in present 1n active filters?

HIBOH DB B80S ¢3S A &O&?

Options :

1. MOSFET

1. %

2. JK thp-flop
JK 2979

2. o
3. Filters
o
L D
4. Transistors
Lo TR

Question Number : 67 Question Id : 5244765067 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

An amplifier has an mput signal of | mW, and produces a 2 W output. What 1s
the power gain in dB?
O30 DANE 1 mW TBE) RSYE 1K) S OB oS H8SW
2 W @93EHED e 18 T. dBES” 38 e250 does?
Options :

1. 20 mW

1.+



I~

2. ®

3. %

4.

4.%

80 mW
80 uW

20 pW

Question Number : 68 Question Id : 5244765068 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The maximum rectification efficiency of a half-wave rectifier is,

DBO0-BS BEDOHE TBg) 58 DOAT Y50

Options :

1

1. %

]

3. %

4.

100 %

88 %

40.8 %

40.6 %

Question Number : 69 Question Id : 5244765069 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s the role of the rectifier in electronic multimeter?

DO TRE HODEES’ BEDOHE (s DWe3?

Options :

.

1.

AC 1nput to proportional DC
DC & AC REDHE NS K0aredo

2. Input voltage to desired value

3.

SIS DS B TS

Various voltage, current and resistance

DD T35, EB0E BTSN BRINS)

4. Resistance measurements

QB NE Eerdden



Question Number : 70 Question Id : 5244765070 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The structure of avalanche photodiode is,

203er0S NI rE B0E), AT°0

Options :
+ - -

l. p -1=p-=m
R4

2. Eig
2. % p

3. pr-p—nu
3 8

4. 1-—p—0
4. % P

Question Number : 71 Question Id : 5244765071 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

A Semiconductor PN Junction device which converts light energy into
energy.
52063 8 38 S8 aE0sEE PN 23088 H8880.

Options :

1. Mechanical

e ESD
2. Electrical
| §8S
)
3. Heat
. 36
4. Sound
Le P8

Question Number : 72 Question Id : 5244765072 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

DeMorgan's Law states that

AT AWBNEY DO




Options :
l. (ABy=A'+B'

1.

_ 2. (A+B)=A"B
3. (AB)=A'+B

_ 4 (AB)=A+B

Question Number : 73 Question Id : 5244765073 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following 1s the class of digital circuits?

208 ¢3S° B8erS NE7) s8> SBKed DE?

Options :
o, LTI
2. JFET
2. %
3. JEFT
3 8
\ 4. Resistor

Question Number : 74 Question Id : 5244765074 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What are the two inputs used in half adder circuits?

55D 08368 D87y s S SITIEROT BO BRYE N eE3?
Options :
1. Pand Q
P D80 Q
1.«
2. SUM and CARRY
L. SUM 208080 CARRY
3. OR and EXOR
OR 0803 EXOR



4. 1andO
1 B30

Question Number : 75 Question Id : 5244765075 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Match the following:

(1) Octal number system (v) (0.1)
(1) Binary number system (vi) (0to9)
(111) Hexadecimal number system (vi1)) (0to 8)
(1v) Decimal number system (vii1) (0 to 15)
208 3¢3 OB o &:
(i) @5 DOWS S5 () (0,1)
(i) 2338 d0228 DY (vi) (0 o0& 9)
(iil) TS YT RND D028 VR (vii) (0 DO 8)
(iv) E53°0% DOWE 590 (viii) (0 0 15)
Options :
. 1. (1-vin). (11-vi), (11-v), (1v-v1)
2. (1-vi), (u1-v), (11-viii), (1v-vi)
2
. 3. (1-vir). (11-viii), (111-v), (1v-vi)

. 4. (1-v1), (11-vi), (111-v), (1v-vii1)

Question Number : 76 Question Id : 5244765076 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In a 100 kHz clock frequency. 16 bits can be serially entered into a shift register?

100 kHz 5°§ |98 D), (E3r08b0m 29 820663 16 D> 50
D00 HEoH?

Options :

1. 160 us

1.¢¥

2. 170 ps

2. %



3. 180 pus

3 8

4. 150 ps

4, %

Question Number : 77 Question Id : 5244765077 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The product — of -sums expressions can be implemented by;
IS — 8D -0 MBI AN T°T° @ TONSI)
Options :
1. 2level NOR logic circuits
2 "0 NOR e7238 O s8den

1. ®

2. 2 level OR-AND and NOR logic circuits

, 20w OR-AND 8050 NOR er23§ Q&) s en

) o

3. 2 level OR-AND logic circuits

W,

. 2370 OR-AND er288 O&ry s&3en

4. 2 level XOR logic circuits

2 700 XOR 7238 O e

4. %

Question Number : 78 Question Id : 5244765078 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

How many cells are available m k-map with four variables?

20D FBOR2NS IS k-S3750S D) VSN e90c0eFENS E0LFoN?

Options :

L. 12
1. %
s 2. 18
L w B B
Lo 4 16

Question Number : 79 Question Id : 5244765079 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



The complemented and un-complemented variables can be eliminated by,

SONVOBE DO BOS-57000TE FBAHNS Y B =so°
e efodnddsrow.

Options :

1. Loop remaining unchanged

e OFR PGS

2. Loop operations
X PO sEerTaren)

2. %
3. K map operations

. K &350 P8 s8eraren
4. K map looping

L, KD eraoh

Question Number : 80 Question Id : 5244765080 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following 1s used as a modifier code for Excess — 3?

208 ¢3S DA DBV - 38 IrGFDOHE FET ENTBEAOI2ES0E?

Options :

1. BCD
1.+

2. ASCII
2. %

3. Gray
PR

Question Number : 81 Question Id : 5244765081 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

For which type of filter the saw tooth waveform 1s used,

Q) BERS DB §H0 B0DD) Do S0 B0 ENTIPR0TIIS0E

Options :



1. LC filters

19
I Fe-+15ev
2. CLC filters
CLC QB
2. o
3. Notch filter
°
. 56
4. Band pass filter
w0l arl awd
4,

Question Number : 82 Question Id : 5244765082 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What 1s known as step-down converter?
VD-TR 3508 @ T denardd?
Options :

1. Point to load converter

. SBESEB8 ranod

2. Boost converter

2 8§06

3. Buck converter

285 85586

3.9

4. Dagital converter

&3S 85506

Question Number : 83 Question Id : 5244765083 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following is the series voltage regulator?

208 52635 1EV STTF BT ed DE?

Options :

1. 8700

1. ®



2. 7008
2. %

3. 7500
3 8

4. 7800
4.

Question Number : 84 Question Id : 5244765084 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

What will be the reason for IC regulator shutdown among the following?

2808 3°¢365° IC B8 DO TEH 590 De3?

Options :
1. Temperature spikes
o, G ST DBoyen
2. Temperature increases
v &L 5ed S0
3. Temperature decreases
&L 95 o
3. %
4. Temperature fluctuates
L. CRPE T yebthen

Question Number : 85 Question Id : 5244765085 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The filters and rectifier circuits are used for,
D5 AN BEDAHE D&y e A §00 GHTrRAoVd0BTow.
Options :

1. Voltage regulation

S5 AoHoshed

2. Load regulation

SE Da%0o(ehed

3. AC power supply regulation

AC DENES OBDT® AODO(5ed



4. DC power supply regulation

DC QDS QBDT® AODO(5eD

4.

Question Number : 86 Question Id : 5244765086 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The load regulation of switching regulated DC power supply 1s from
205000 Q03¢5 DC DS HBHT> TdwE) S& DOHO(hea
Options :

1. 1.5%-25%

1. ®
2. 3%-15%
2. %
3. 0.05% -0.5%
3.
4. 25% -35%
4, ®

Question Number : 87 Question Id : 5244765087 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

3 5 e & 5 &
The resistance of a conductor | mm- in Cross section and 20 m long 1s 0.346Q.
Determine the Specific resistance of the conducting matenal.

1550 ES 1 mm? 8050 78 20 DEIS 59 E08ED &), 1e350E2S
0.346Q. 578 DT*P0 A3E), DB DeIEID

Options :

1. p=1.74*10"°Qm

1. %

2. p=1.70*10°Qm
2.
- 3. p=1.968*10"°Qm

4. p=1.738*10"° Qm

4

Question Number : 88 Question Id : 5244765088 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0



Which of the following statement 1s true for series circuits?

289 D87 85050 H0200E0D 808 T3S A HBIE?

Options :

1. The voltage is same through all the elements

STSeE @) rOsTe @500 2.8 DO GoLNOd

1. %
2. The applied voltage is equal to voltage drop
% = v,
L O ST, SPef |08 Do
3 %
3. Voltage distribution is parallel to current and resistance
TS5 HODES, EBOES AW DINEISE DATOSBOMT EoLNOd
4. Power 1s unidirectional
. 38 EETHEDIA

Question Number : 89 Question Id : 5244765089 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following 1s the application of parallel circuits?
208 363" DIP0HS HET) 5L ONTAS E?
Options :

1. Fanregulator

S BRSSEE

1. %

2. Lightming circuits

v V. X
. DAY &) §ED
3. LCD circuits
LCD 0857560
3. %
4. House wring circuits
o 80A DBy s
4.9

Question Number : 90 Question Id : 5244765090 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The power factor of an LCR series circuit at the resonance value of;

(3¢5 4R DS HE LCR DER HET)5€0 T30EY D38 arsEs



Options :

N
e 2. 05
L« 3. 03
Le A 07

Question Number : 91 Question Id : 5244765091 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The purely resistive circuit will have,
O BRIV D)5 EOETON.

Options :

1. Current and resistance in out of phase

EB0E BN BIVS) @9 D ek S

1. %

2. Voltage and capacitance in phase

STB25 BN BFHBDS Y 28 93’

2. %
3. Current and voltage are in phase

, &80 805w S8 2.8 93
4. Current and voltage are out of phase

e 5008 58050 S ¥ Swfd

Question Number : 92 Question Id : 5244765092 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Determine the total voltage applied in a series RLC circuit when 1=3mA, V1=30V,
V=18V and R=1000 ohms.

i= 3 mA, V=30 V, V=18 V 08050 R=1000 ohms €53} &) 8 RLC
D855 3803 Jnbo STSeE
Options :

1. 496V

1. %



3. 348V

3.8

R A

Question Number : 93 Question Id : 5244765093 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following condition is suitable for superposition theorem?

JArHETFRAS DT 08 808 ¢3S O 0 DEFOOTT E0oLNOE?

Options :
1. Single current source

L« 2380w Sreo

2. Active elements

BaSr3e @o7ren

3. Number of voltage source

L S Sreo dowg
4. Single voltage source
. 0AS SPeE Srero

Question Number : 94 Question Id : 5244765094 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

When the resistance in a series RC circuit 1s increased then the magnitude of the
phase angle will be,

8D RC O3 5656 158350603 8R3N8, 5% 80 T30y,
DBIre0

Options :

1. Decreases

o, Sihe&od
2. Remains same
. ®ern GotNOAD

3. Increases

o le eV Veln)

3 %



4. Zero
QDT

Question Number : 95 Question Id : 5244765095 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The current leads the total voltage by an angle of,

RS0 S8 0T EBOE §°690 00 HOLNOE,

Options :
L. f*
1. %
o
L 2,90
ot
s x 3. 45

4. 0to90°
4, &

Question Number : 96 Question Id : 5244765096 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The total reactance 1 an RLC circuit will be.

2,8 RLC DET) 5685 [0 (D35S

Options :

1. X¢
1. ®

2. Xi—Xc
2. %
. 3. Xe—X1
Lo Xe

Question Number : 97 Question Id : 5244765097 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The mput of an A.C circuit having power factor of 0.8 lagging 1s 20 KVA. The power
drawn by the circuit 1s,

0.8 58 7558 EORS A.C SET) 58 S 20 kVA IEDA GO
@08 DET)SE T SO0 |TT° DOHVABS 8

Options :




1. ®
2. 18
2. %
L, 316
4. 4
4, ®

Question Number : 98 Question Id : 5244765098 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The power consumed by a purely resistive AC circuit can be determined using the
following formula:
PO BRAVS AC OE7560 o0 50° DATIrA0IT 35 180 S (@)
E52003°A00 APONONN).
Options :
1. P=Vims X lems

1.+

2- P = \‘Fljllsf IlII‘lllS

2.

. 3. P=IV
4. P=VxI

4, ®

Question Number : 99 Question Id : 5244765099 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In A.C. circuit, the change in current flow will increase the EMF induced and that
further opposes the current flow. This effect of current opposition is termed as,

AC. D873 85", EBOE |DTTF0S S553°¢0) EMF [082e5e5%
200TNS0E B0 @A EBOE (DT B0 S5ed3BEN0E. B0
S55e3BEed BE), B8 (D2FTR) 0T,

Options :

1. Capacitive reactance

B3 (2De308g

1. ®



2. Inductive reactance

L0EE (D3585

2. %

3. Inductive resistance

8% AESES

3. ¢

4. Capacitive resistance

B ES AT

4, &

Question Number : 100 Question Id : 5244765100 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

In the figure shown below, a resistor and an inductor connected in series across an
AC supply. Hence, what will be the current in the circuit?

B DTS Q(H0S’, BOND 0BG ROCED (FESS” AC SBHT &
29000 BB DET) S EBOE e B0ENOE?

Options :
1. 1n phase with the voltage

SBeE S Frew 53 GoLnod

2. always be a large value

v DY I DR Densd EOA &0k

3. lag the voltage

S 35 8 I8 &0ENod

4. lead the voltage
S B8 0T SNOLNEOENOE



